Potencias de 10 (C)

58 =100

45 =10

301

341000

40+ 1000

72100

53+0.01

49 =10

10100

36 -0.1

Calcule los siguientes cocientes.

95 + 1000

321

78 =10

47 +1

631

61-=0.1

38+0.1

65100

171000

46 =100
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Potencias de 10 (C) Respuestas

58 + 100
0.58
4510
45
30+ 1
30
34+ 1000
0.034
40+ 1000
0.04
72+ 100
0.72
53+0.01
5,300
49+ 10
4.9
10100
0.1
36+0.1
360

Calcule los siguientes cocientes.

95+ 1000
0.095
32+1

32
78 +10
7.8
471
47
631
63
61-+0.1
610
38=0.1
380
65+ 100
0.65

17 +1000
0.017

46 - 100

0.46
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